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. Problem... =~ 1. %8

GGi‘v‘en two strings 51 and S
find the longest prefix of Sl
that is a suffix of S,




GGi‘ven two strings 51 and 52
find the longest prefix of &
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GExample:
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| SZ " babacbadababc
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How many comparisons?

n+(n-1)+..+2+1=0(n?%



~ Recall the Z algorithm*

C*‘S'i'mplest linear string matching
algorithm _

CGGiven a string J1.1], denote
by Z[1] the length of the longest

string starting at position | of S,
that Is a prefix of S

(Note: just one string
G Compute Z[i] iteratively

*Algorithms on strings, trees and sequences, D.Gusfield




Z[i]+1

Z box at
position |
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r[k]  Rightmost end of a Z box that starts
' at a position 1< J <k

I[K]  The left end of the Z box defined by _
e r[k] _ _
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C*Co'mpute'iteratively Z[|],|[|] 1l

COnly last value of I[1],r[1] wil
be needed. Refer to them as

T |
C:Three cases to consider




The Z Algorlthm

_---.Iterat|on k

_Casel k>r

Compute Z[ k] by explicitely' =
comparing the characters at
position K and on with the
characters at the beginning
of the string
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CWhat if we have two strings?

(-The solution is a simple
~ extension of the Z algorithm

GCallY[1] the longest string
which starts at position | of S
and which is also a prefix of §
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C*Defi'nition ofaY box, | and r
~are analogous, this time with
respectto S,
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